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ENGLISH VERSION

Instructions : (1) There are total four questions.
(2) Marks of each question is shown on right side.

(3) Show required calculations as the part of answer.

1 Division A of a manufacturer company has a budget of selling 20

4,00,000 units to fetch a return of 25% on the average return
employed. The particulars of division A are as :

Particulars Rs.
Fixed overhad 8,00,000
Variable cost per unit 1.00
Fixed assets 8,00,000
Current assets 16,00,000

Howerver, there is constraint in marketing and only 2,80,000 units
can be directly sold to the market at the proposed price.

It has been gathered that the balance 1,20,000 units can be taken
up by division B. Division A wants Rs. 4.50 per unit but Division
B prepared to pay Rs. 2.25 per unit. Division A has another option
in hand which is produce only 2,80,000 units of this will.

(1) Reduce the holding of fixed assets by Rs. 2,40,000
(2) Reduce the holding of stock by Rs. 1,60,000
(3) Saving in selling overheads by Rs. 80,000.

You are required to advise that can Division A transfer 1,20,000
units at Rs. 2.25 to the Division B or not ?

OR
1 Division-A is a profit centre which produces four products 20

Aox, Box, Cox and Dox. Each product is sold in the external
markets also. Data for the period are as follows :

Particulars Aox | Box| Cox | Dox
Variable cost (per unit) (Rs.) 130 | 100 90 85
Market price (for 10 units) (Rs.)[1,500 [1,460 |1,400 1,300
Direct labour (per unit) (Rs.) 60 40 24 33
Labour rate (per hour) 20 10 12 11
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Product - Dox can be transfered to Division-B, but the maximum
quantity required for transfer is 1,250 units of Dox. The maximum
sales in the external markets are :

AOX ool 1,400 units
Box ......cc........ 1,250 units
CoxX v, 1,150 units
DOX..ooovviiin 800 units

Divison-B can purchase the same product at a slightly cheaper
price of Rs. 125 per unit instead of receiving transfer of product
- Dox from Division-A.

What should be transfer price for each unit of 'Dox’, when the
total labour hours available in Division-A are :

(1) 10,000 hours
(2) 15,000 hours
(3) 17,650 hours

2 Saurastra Stores has a branch in Chicago. Its currency 1s U.S. 20

Dollar ($). The following is the trial balance of it as on

31-03-2017 :
Particulars Debit bal. $ |Credit bal. $
Head Office Account - 16,400
Purchase 4,500 -
Stock (As on 01-04-2016) 2,000 -
Debtors 600 -
Cash and Bank 300 -
Fixed assets - land and building 9,200 -
Fixed assets - plant and machinery 9,200 -
Sales - 11,000
Creditors - 400
Branch management expensee 2,000 -
27,800 27,800
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Additional Information :

Closing stock was valued at 1,600 $. The debt balance of branch
account was Rs. 8,00,000 in the books of head office.

The Exchange rates are as under :
- As on 01-04-2016 1° § = Rs. 60
- As on 31-03-2017 1 § = Rs. 62
- Average Rate 1 § = Rs. 61

Head office has considered average exchange rate for revenue
expenses and revenue income.

From the above information, prepare Branch Trading Account,
Profit & Loss Account and Balance Sheet.

OR
2 Manish Ltd. commenced manufacturing readymade shirts 20

business from 1-4-2018. It has produced 2,00,000 units upto the
year 31-3-2019 at a cost of Rs. 200 per unit (shirt).

The company sold 75% units of total production to Surat situated
wholesale trader at a wholesale price and 15% units of total
production sent to the Rajkot based branch at a wholesale price.

At the end of the year, stock remained unsold.

- With wholesale trader ................... 15,000 units
- With wholesale branch .................... 3,000 units
- With Head office ....................o..... 2,000 units

H.O. and branch have incurred selling expense of Rs. 20 per unit sold
on M.R.P. basis. The wholesale price and M.R.P. fixed by Head office
were,

- M.R.P. = Cost + 75% of cost
- Wholesale price = M.R.P. - Rs. 50
Including Head office, they each have sold units on M.R.P. basis.

Find closing stock reserve of the branch. Also find Gross Profit
and Net Profit of H.O. and branch.
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3 On 01-01-2017 Vinod Ltd. has imported the goods of 15

$ 1,00,000 from Piters Co. of Canada for re-sales. The payments of
these goods was made on 15-04-2017. Accounts was prepared on 315t
March every year. The exchange rate were as under :

On 01-01-2017 1 $=Rs 65
On 31-03-2017 1 $§=Rs 63
On 15-04-2017 1 $=Rs. 68

Do necessary dealing note in the account book of Vinod Ltd.
according to Accounting Standard No. 11.

OR
3 Shiv Co. Ltd. purchased a machine of $ 1,00,000 from a 15
foreign company. A foreign company made financial facility for Shiv
Company Ltd. in form of loan. The loan is repayable in five annual

equal installments with 15% interest. The machine becomes useable
at the end of first year. The exchange rates are given below :

Particulars Dollar ($) Rs.
At the time of purchase (T) 1 30.00
At the end of first year (T) 1 32.00
At the end of second year (T,) 1 31.50
At the end of third year (T;) 1 33.00
At the end of fourth year (T,) 1 33.00
At the end of fifth year (Ts) 1 32.50

From the above information calculate the balance carry forward
of fixed assets T;, T,, T5, T, and T5 for every year as per
Accounting Standard No. 11.

4  Write short notes on : (any two) 15
(1) GAAP
(2) Need of Indian Accounting Standard
(3) International Accounting Standard

(4) Multinational Corporation.
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